IX CLASS 1E CONDUIT SUPPORTS SPECIFZCATION AND INSTALLATION NOTES

1. General
a. For general notes see drawing E-706.

b. Orly installatiin of supports fo: Class 1E channels are Q list
items. No QC inspection is required for Class 1E supports
installed for non Class IE Channel.

Séhedu‘led condutis installed as chase nipples at term®nal Jjunction
boxes or electrical aquipment. Will not require support -
provided they do not exceed 3" beyoiid the surface of the equip-
nens.

Materiais 4\

a. Strut channels and accessories for coanduit supports shall he
in accordance with Specification F-52 (Q). Materials are shown
and noted on the <raw’ngs as efther "Unistrut® or “Power
Strut," bu® parts with equal pronerties may be interchanged
with one another.

business, on the date stated below and that it Is

an accurate tepreduction of the document

i certlfy that the Imege conteinsd on {his frame
submltted to reprographics.

was made In the nermal and regular course of

Materfals prefixed with "P" are manufactured by "Unistrut®.
Haterials prafixed with "°S" are manufactured by "Power Strut".

All Unistrut and Power Strut Bolits shali be 1/2 diameter, unless
notad ntherwise, installed per civii Specification C-304 (0)
using the following torque value, 1/2" bolts 501bs-ft. min.

. Al additioral boits as noted on the drawings shail conform to
the criteria as shown on Page 100A Note B.

1/2" Unistrut lock washers (Part Number HL1CWOSO0EE) may be used
at the field‘s option.

Framing materfals ard mi<cellanecus shall conform tn the
criteria as shown on Page 100A Hote 8 and C.

Unistrut straps shown on supports shall be standard gipe

straps (Part Mcs P2558-7 through P2558-60) or equal. A1l

balts shall be ASTH A307-76 with a minimum strength of 33 ksi

of slotted hexhead machine screws rated to ANST B18.63-72

for conduit diameter 1 172" and less, use 1/4" § bolts. For

conduit diameters 2" through 6° use 3/8" P bolts. Nuts for

P1000 series members shall be P1006-1423 for 1/4" boits and

P1008 for 3/8" bolts. Huts for P3300 series members shall he
P4006-1420 for 1/4" bolts and P4008 fur 3/8" bolts.({Cont. on Sh 300A)

-

6262 VLTV FEYSED- W f w5357 8 o #7175 st i
W7 S EIR T, Y NEY] B da kLD 175 ldzuy

Ha | nave | ASYIGIoNg cnno | CROSP _h-%llogys R
8caLs DRSIANE0 BRAWRK)

QRIBIN

PuNe 7230
X MIDTAND PLANT UNITS 1 AND 2 CRAWING Ne,
L CONSUMERS POWER COMPANT

CONDUIT AND TRAY 3
YOTES, SYMBOLS, AND DETAILS E-428(®) sur. 306







